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B2 VIL 40/G1l. 50/G1F165/G1
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P Jo—’ “
B D 415 RLA
A
bisess VTL 40/G1 VTL 50/G1 VTL 65/G1
IR 50Hz 60Hz 50Hz 60Hz 50Hz 60Hz
DN m/h 40.0 48.0 50.0 60.0 65.0 78.0
BAREN mbar abs. 50 50 50
HALZEITHE 3~ v 230/400410%  265/460+10% 230/400410%  265/460+10% 230/40010%  265/460+10%
HHLIhZR 3~ Kw 1.10 1.35 1.50 1.80 1.50 1.80
H LB %4 P 55 55 55
=378 Lo 1440 1750 1440 1750 1440 1750
HHLAME B5 B5 B5
B 90 90 90
e dB(A) 68 70 68 70 70 72
BERER 3~ kg 51.0 54.0 71.0
A 520 560 580
B 365 365 365
C 350 350 350
D 60 115 120
F 45 30 45
H 186 186 186
M 125 125 125
N 70 80 80
R 0 gas G1" G1" G1"
5 2 A VTL 40/G1 VTL 50/G1 VTL 65/G1
i 1 0.85 1.00 1.00
Y R IS0 100 1S0 100 1S0 100
6NE A piiR= 00 VTL 40G1 10 00 VTL 50G1 10 00 VTL 65G1 10
EHEH Eiik= 00 KIT VTL 40G1 00 KIT VTL 50G1 00 KIT VTL 65 G1
IR H 100510 100510 100510
HETIESR LS FB 30/FC 30 FB 30/FC 30 FB 30/FC 30
AN S 5 00 VTL 00 11 00 VTL 00 11 00 VTL 0O 11
B N R = Kg x 9.81 (FEf) 5 195) = 25.4mm 5 165=453.65¢ = 0.4536 5 cfm= m’/h x 0.588; inch Hg= mbar x 0.0295; psi= bar x 14.6




